Addition

e 8+8=16
e 6+9=15
e 7+8=15
e 6+6=12
e 9+9=18
e 8+5=13
e 9+5=14
e 7+7=14

Subtraction

e 10-7=3
e 14-9=5
e 12-6=6
e 13-8=5
e 17-6=11
e 15-5=10
e 11-9=2
e 16-8=8

Mixed

e 8+9=17
e 16-9=7
e 8+8=16
e 16-6=10
e 19+1=20
e 18-9=9
e 9+6=15
e 17-4=13
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Make up the Money Answers

(1)

e He needs 4p.
e He needs 1p.
e He needs 8p.
e He needs 6p.
e He needs Op.

(2)

e She needs 5p.
» She needs 8p.
e She needs 4p.
e She needs 9p.
e She needs 11p.
e She needs 15p.
e She needs 9p.
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10+0=10
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Animal Problems Answers

3 +4 =7 chimpanzees
10 - 2 = 8 penguins

6 + 3 =9 elephants

6 -2=4lizards

7 -3=4lions

ohrwbd=

Challenge
Answers will vary. Can children explain their ideas when talking about their word problems?

Solve Joe's Homework Answers

7+ 4=11
10- 6=4
15-9 =6
6+5 =11
16-8=8
19-5=14
8+4=12
10-3=7
12+3=15
10. 6+5=11
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